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1. &T 2x3x5x7x11+1

(a) TS AHTST TEAT

(b) TF WY GEAT 7E, *feh TH
HATST GE&AT & 91

(c) U AT §EAT HI °Ta el, Sfeh
TS W59 99 &

(d) TF FuT~T gEA Fit g e, |Gfew
U Wy faww wen

LERAE & R osmE g fmfafea

R e w3

(i) 9% W H Al wEAnsi
TR 2160 ©

(i) W% W § THi @EAs ®1 HCF
12 %1

® 3R R gW & wEAE @ sed
y%,ﬁ'fxliﬁ(yﬁﬂliﬂ'ﬂﬁw%?

(@ 60

(b) 72

() 73

(d) 78

. (54)10 7% fopaw 3/ € 7 (oo mam @ fn
log2 = 0-301 3R log,,3 = 0-477 ®)
(@) 16 |

(b) 18

© 19

d 27
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4.3 » = W qiE R, @ @HERw

= % et W wge, -
g diasRar g ?

@ {1, n%}

(b) {1,\/5}

© {1, n}

@ {n, n?}

.U wfenfier-oden |, 250 s A

gefreor (Tfoee) forar 8 1 =9 R, 50
ol A wifrhr & fog W T @,
75 Bt 7 wfvrg & forg ik 35 vl A
i ok wifordt St & forg s
forr R | 7 wEl 6 den fae @
e @ o siifohr & fo sk 7 &
Tt & forg fores frar @ 2

(a) 90

(b) 100

(c) 150

(d) 160

LOfe @@ 107 -1 & S &1 ANTEA,

STEl n U& 499U @, 3798 % WK €,
AT AA TR ?

(a) 421

(b) 422

(c) 423

(d) 424

Jrafafes & & 9 @ ww W,

@i 22222, 22222 22222 92222 [ J
g TSl © ?

(a) 22222

(b) 22222

(c) 22222

(d) 22222




1. The

2

number 2x3x5x7x11+1 is
(a) a prime number
(b)

(c) not a power of a prime, but a
composite even number

not a prime, but power of a prime

()

not a power of a prime, but a
composite odd number

Two unequal pairs of numbers satisfy
the following conditions :

(i) The product of the two numbers
in each pair is 2160

(ii) The HCF of the two numbers in
each pair is 12.

If x is the mean of the numbers in the
first pair and y is the mean of the
numbers in the second pair, then what
is the mean of x and y?

(a) 60
(b) 72
() 75
(d) 78

. How many digits are there in (54)10 ?

(Given that

(a) 16
(b) 18
() 19

@ 27

4.

S

Which one of the following is a set of
solutions of the equation xVx =Rx*,
if n is a positive integer ?

@ {1, *}

®) {1.n}

() {1, n}
@ {n, n?}

In a competitive examination, 250
students have registered. Out of these,
50 students have registered for Physics,
75 students for Mathematics and 35
students for both Mathematics and
Physics. What is the number of students
who have registered neither for Physics
nor for Mathematics ?

(a) 90
(b) 100
(c) 150
(d) 160

If the sum of the digits of a number
10" — 1, where n is a natural number,
is equal fo 3798, then what is the value
of n?

(a) 421
(b) 422
(c) 423
(d) 424

Which one of the following is the

largest number among 22222, 22222,
22222 22222?

(a) 22222
(b) 22222
(c) 222%2
(d) 22222
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8.

10.

Tl 0 dR 50 F = swrea dEATEt A
& m ®; AR 50 3K 100 =9 397
Wﬁiﬁtmn%ﬁf@n—n}ﬁ?ﬂ%
e R ?

(a) 4
(b) 5
(c) 6
(d 7

~
&,
|

Blw

(b)

3
(©) 3

27
@

Ife x o1 g7 quits 8, o Feafafea &
A A A1 s, 3+ 3+ 2 gea
ST A © ?

(@) 3
(b) 13
() 39

@ 117
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11.

12.

3 A Hr S GEAT, TEh I Al
AGA-TGA T TS T FEAT F AR AT
¥ 9 aftes B | afs qF st it wew &
T T RS 8 8, A TeAT FTR 7
(a) 81 '

(b) 42

(c) 24

@d 18

afg a 3k g, fguma avfiewor
X2+kx-15=0 % ¥ T uFR ¥ 5
a—B=8%, W k F gIHE A
7 '
(a) 2

(b) 3

(c) 4

@ 5

13. paR g F WA 9 T E, Al (x— 1)

14.

AR (x+2) F|IGT O+4x’+pxt+q R
s € ?

(@ 1, -6

(b) 2, -6

© 1,6

@ 2,6

afg x2+5x+6 MR x2+8+15 &
HCF (x+ k)&, Ak FAAFTE ?
(a 5

() 3

(c) 2

@ 1




8. If m is the number of prime numbers
between 0 and 50; and n is the number
of prime numbers between 50 and 100,
then what is (m —n) equal to ?

(a) 4
(b) 5
(c) 6

@ 7

9. If

o | &

< l ,—=3 and
i

l, then what is the value of abe ?
4 def

|-

(®)

B w

00| W

(c)

27
@

10. Which one of the following is the
largest divisor of 3%+ 3%"1+3%2 if
x is any natural number ?

(@ 3
(b) 13
(c) 39

@ 117

11.

12.

13.

14.

A two-digit number is 9 more than
four times of the number obtained by
interchanging its digits. If the product
of digits in the two-digit number is 8,
then what is the number ?

(a) 81
(b) 42
(c) 24
(d) 18
If o and P are the roots of the quadratic
equation x%+kx—15=0 such that

a—pB=8, then what is the positive
value of k?

(@) 2
() 3
(c) 4
@ 5
What are the values of p and g

respectively, if (x—1) and (x+2)
divide the polynomial x>+4x%+px+q ?

(a 1, -6

(b) 2’ _6

) 1, 6

d 2,6

If (x+k) is the HCF of x?+5x+6

and x2+ 8x+15, then what is the
value of £?

@ 5
(b 3
(© 2
@ 1

A - PLKI-T-MTK




15. afg 551 - 5% 1= 600 %, A1 102 & 7
;TR ?
(@ 1
(b) 1000
(¢) 100000

(d) 1000000

16. U% €&AT 30 YR o ¢ T 388 12288,
28200 3R 44333 =1 fawfom =7 |
o ferfy # w dar (sam) Swwe
HTH BT © | 9% G 99§ ?

(@) 272
(b) 232
© 221
@ 120

17.3% X2 +92=6xy B, A y:x fores
TR B 7

@y =3
(b) 1:2
(@ 24
(d 3:1

18. 3G m IR n gAY =0 wFR & &5
m"=1331%, A (m—1)" 1 & 79 T4
27
(@) 1
(b) 100
(¢) 121

(d 125
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20.

21.

22.

(@ 1
(b) -1
(cy O
@) 2a™™

e x=+2, y=3 3k z=6 &, @
Frafofea & & @7 w1 s wd @ 2
(a) y<x <2z

b z<x <y

©) z<y<x

@i x<iyi<iz
Tfg log x =1-2500 3R y = xlog*®, &
log y foras e © 7
(a) 4-2500
(b) 2-5625
(c) 1-5625
(d) 1-2500
afG fx) F (x—a)x-p) & Fmfm
foram =i, StEf a2 B R, A Swwa T
?7?
(x-a)f(x)—(x-B)f(B)
(a)
a-p
x-a)f(B)-(x-B)f(x)
(b)
a-p
(x-p)f(@)-(x—a)f(B)
(©
a-p
@ (x=B)f(B)-(x—a)f(x)
a-p




15.

16.

17.

18.

If 551 - 5*1=600, then what is the
value of 10%*?

(@ 1
(b) 1000
(c) 100000

(d) 1000000

A number divides 12288, 28200 and
44333 so as to leave the same
remainder in each case. What is that
number ?

(a) 272

(b) 232

(c) 221

(d) 120

If x2+9y?=6xy, then what is y:x
equal to ?

(@ 1:3

(b) 1:2

(cy-2:1

(@ 31

If m and n are positive integers such

that m” = 1331, then what is the value
of (m—1)"17?

(a) 1
(b) 100
() 121
(d) 125

19.

20.

21.

22,

1
i e equal to ?

What is

a” " -1

(@) 1
(b) -1
() 0
(@ 2a™™"

it x=«./§, y==”J§ and z=%, then
which one of the following is correct ?

(Al p=<yx <z

B z<x <y

- z<y<x

dy x <y <z

If log x=1-2500 and y = x"2*  then
what is logy equal to?

(a) 4-2500

(b) 2-5625

(c) 1-5625

(d) 1-2500

If f(x) is divided by (x—a)x—p)

where a=p, then what is the
remainder ?

(x-a)f(@)—(x-B)f(B)

(a) oy
() (x-a)f(B)-(x-P)f()
a-p
(x=B)f(@)—(x—2)f(B)
(c)
a-p
x=B)f(B)-(x-a)f()
()
a-p
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23.

24.

25.

afe s ==t & e
2401x* + 196x2 + 4 §, I 0! o1 Hir
S MR 7

(a) 49x2+3x+2

(b) 49x%—3x+2

(c) 49x2+2

(d) 59x2+2

M x, yz F IER TG W@ R, Wy
foress wfema: sea wr & 2

(a) xz

® =
Z
© %
S
(d) ) .
afe forg P 3k O wEm Y@ W awafas

g&ms 0-73 3R 0-56 =t frefg aa
LAPIROF TR g wn & 2

1
(a) P

(b)

|

16

© 25

11

d 9
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26.

Z7.

28.

xy-9Hdd O Sx+2y=7xy3ﬁ1'
10x + 3y = 8xy @l
I FA i g S ar @ ?

forelt aeg ¥ & =@ ¥ v@w af 20%
N afz ot & R A ¥ F o
wfer ad 10% & 3fg 2t & | 3 2010
H, a8 X 194 T5000 A1 IR w5
Y ST 9 32000 o1 | e ad 3 geeh
IR I A F AR T5000 ¥ 3w
o T ?
(a) 2012
(b) 2013
(c) 2014
(d 2015

X 3R ¥ & wfw@t (I@) & s
5:6%1 3R 12 km & = A RW)
H, ¥, X® 70 m f foma (g
Sar g, o W # &4 Stree 3R feat
g () ¥ S ?

(a) 30m % IR A X X Saar &

(b) 90 m F IR A Y @ Staar &

(¢) 130m FH IR A ¥ @ Siaqan &

(d) 9 foega st | a9 Bt &




23.

24,

25,

If the area of a square is
2401x* + 196x% + 4, then what is its
side length ?

(@) 49x%+3x+2
(b) 49x2—-3x+2
(c) 49x2+2

(d) 59x*+2

If x varies as yz, then y varies inversely
as

(a) xz
®) 3
zZ
©) 5
& &
(d) (x2)

If the points P and () represent real
numbers (-73 and (0-56 on the
number line, then what is the distance
between P and Q?

()

| —

(b)

16
45

@ %0

26.

27.

28.

What is the point on the xy-plane
satisfying Sx+ 2y =7xy and
10x + 3y = 8xy ?

( 1
@ [-1, g]
1
(b) \Es_l]
1
(© |1, g]

1
o (49

The price of an article X increases by
20% every year and price of article ¥
increases by 10% every year. In the
year 2010, the price of article X was
T5000 and price of article Y was
$2000. In which year the difference in
their prices exceeded ¥5000 for the
first time ?

(@) 2012
(b) 2013
(c) 2014
(d 2015
The ratio of speeds of X and Yis 5 : 6.
If Y allows X a start of 70m in a

1:2 km race, then who will win the
race and by what distance ?

(a) X wins the race by 30 m
(b) Y wins the race by 90 m
(¢) Y wins the race by 130 m
(d) The race finishes in a dead heat
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29.

30.

31.

32.

afe ww @mE i wfy = sadh am=
afd & 5 km/hr @1 fear simg, @300 km
H 9T g FRA | 9% Wt o1 5E &6
g &9 odl © I9id fde W am
T | Qe Ted eEdl © | Xenmst i
T Tl (I TR ?

(a) 50 km/hr

(b) 40 km/hr

(c) 35 km/hr

(d) 25 km/hr

afy 6 gev 3k 8 wfeemd = =W =
10 f&7 % g o= g §; 3R 13 g&w
3R 24 wfgend St @ @ 4 fom & g
IR ghd €, A TF o7 F uw gew g
T o = 1w e 7w Afeen g
ToFT 10 W |, AT TR ?

(@ 2:1

(b) 1:2

(c) 4:3

d) 3:4

TF w1 # oEl W FiEat f uw wwE
wear gt il # fersmn sran ® | afe
s dfer § BEl f der 2 S Q@
STt @, uferal i wear 3 %9 B Wt
2 | gk wa= 9fts 7 wEr @ @ 4
=g & St &, o ferat < wear 5 e
B St R | e # wEn f e fead
72

(a) 100

(b) 105

(c) 110

(d 120

Teh 4T 9 2 =96t & fog us g
H WIURY A 9 AT e | afe =&
1% SE &S Q® § AN W R
ST, o 3 W 24 w9 fie wead )

gAY feohat @ 2
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33.

34.

(a) T500
(b) T600
(c) %800

(d) Z1200

q Wiar B e FEw: 1525 3R
2600 | af wew Wa # gEE W
JAEET T "ieemal f SHEe |
AT 27 : 34 & oK R T F g f
SMEEIT & Afgensl i SEEe |
AT 6:7 ® A T QWr A@T H
SHEET & fieeR, gest f SHeen
1 Afearsii H SHEEAT ¥ FIE T
?7

33

41

85

82

s
90

@
®)
©
@ 3

TF FET § FSHAl h G w1 deH

$ Hem F IEE 3:4 ¥ wWOA

forenf¥iat o sitea &g 4.6 Fre | TR

T | g 1 ied e 4-8 B R, A

wE | gfeal & Iaa e | R ?

(a) 42Feq &

() 42F ¥ s ARe 4.3 B J
5H

(c) 4-3 fic & 3ftrs ofF 44 fie |
+H

(d) 4-4 e & 3rfe Af 4.5 Fle |
&H




29.

30.

31.

32.

A train takes two hours less for a
journey of 300 km if its speed is
increased by 5 km/hr from its usual
speed. What is its usual speed ?

(a) 50 km/hr
(b) 40 km/hr
(¢) 35 km/hr
(d) 25 km/hr

If 6 men and 8 women can do a piece
of work in 10 days; and 13 men and
24 women can do the same work in
4 days, then what is the ratio of daily
work done by a man to that of a
woman ?

(@) 21

(b) 1:2
(c) 4:3
(d 3:4

Students of a class are made to sit in
rows of equal number of chairs. If
number of students is increased by 2
in each row, then the number of rows
decreases by 3. If number of students
is increased by 4 in each row, then the
number of rows decreases by 5. What
is the number of students in the class ?

(a) 100
(b) 105
(¢) 110
(d) 120

A sum was put at simple interest at
certain rate for 2 years. Had it been
put at 1% higher rate of interest, it
would have fetched ¥24 more. What
is the sum ?

11

33.

34.

(a) %500
(b) %600
(c) %800
(d) %1200

The population of two villages is 1525
and 2600 respectively. If the ratio of
male to female population in the first
village is 27 : 34 and the ratio of male
to female population in the second
village is 6: 7, then what is the ratio
of male to female population of these
two villages taken together ?

33

@ 7

85

®) 3

71
(c) %0

5
(d) 3

In a class room the ratio of number of
girls to that of boys is 3:4. The
average height of students in the class
is 4-6 feet. If the average height of the
boys in the class is 4-8 feet, then what
is the average height of the girls in the
class ?

(a) Less than 4-2 feet

(b) More than 4-2 feet but less than
4-3 feet

More than 4-3 feet but less than
4-4 feet

More than 4-4 feet but less than
4-5 feet

()

@
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35. 59 (321) 3,5,9,4,6, 11, 18 wrfeye T = (03) weAt ¥ frg frdar -

(+fifeam) a1 & 2 frafafes g =1 oy sk om o A
e A WAt @ IR S
frafafes s af 2010 & ©: sEF-3@m
(b) 65 4 S¥t A, B, C, D, E 3R F & B8 v Qi)
ge () w= frelm w=a €, et R
) 7 TN S A I gl A (x), Pt st

safy # o Safires a1 g wfiteor wy
foran () ok S st frdiom (wreie) &
WEdTE W 4 (2) |

@ 75

6. ETTRE T TTITRE | TR AT F

s X Y Z
g:mléi‘s%’ iy b - A 86 45 25
: B 1305 903 461
% C 2019 940 474
(2} 200 D 1166 | 869 | 416
by 180° E 954 544 254
F 1198 464 174
(c) 150°
38. wfufm Sfat 6 aifteram sk wgem
(d 120° (7grram) wifersraaT arelt Sie e §
(@ F3#RD
37. srafies geatea & Sevd @ et wden
& rftranaw 3Rl A 250 A 50 A = ®) DIRF
fear v @ | W it Se=aw IF 170 (c) C 3R A
g R fraam s® 70 ¥ | ke s e
He AT | IoaaH AR AaH WTHTSH & @
0 e e & 7 39, Rt At 6 st Priveet
@ 15 Tl S ©
(@) F
(b) 17
(b) D
(C) 20 (C) B
(d) 24 d A

PLKI-T-MTK - A 12




35. What is the median of the data 3, 5,
9, 4,6, 11, 18?7

(@ 6
(b) 65
© 7

d 75

36. In a pi-diagram there are three sectors.
If the ratio of the angles of the sectors
is 1:2:3, then what is the angle of

the largest sector ?
(a) 200°

() 180°
(c) 150°

@ 120°

37. The maximum marks in a Test are
converted from 250 to 50 for the
purpose of an Internal Assessment. The
highest marks scored were 170 and
lowest marks were 70. What is the
difference between the maximum and
minimum marks scored in the Internal

Assessment ?
@) 15
(b) 17
() 20

d) 24

13

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

The following data presents count of
released convicts who have served prison
terms (X), those who have received some
educational or technical training during their
term (YY) and those who were offered
Company placement (Z) respectively, from
six different jails A, B, C, D, E and F, in
the year 2010.

X ¥ Z
A 86 45 25
B 1305 903 461
C 2019 940 474
D 1166 869 416
E 954 544 254
F 1198 464 174

38. Jails with highest and smallest percent-
age of trained convicts are respectively

(a) F and D
(b) D and F
(¢) C and A

(d D and A

39. Jail with highest placement rate of

trained convicts is
(a) F
(b) D
(c) B

d A

A~ PLKI-T-MTK




40.

41.

42.

43.

3 v, e wfvfa ftat & & smy
¥ afye At i A (S") &=
WEE WH g ®, €

(@) A, B3R C

(b) A, B3R D

(c) A, D SR E

(d A, E3RF

dF 3t arell UEl wErd (§t o
fim &) vt € ot 79 wsw € 3k
Ik el W HH IAT I o4 W W
7% W9 § ?

(a) ®:

(b) W=

(c) IR

(@)

x 3R y & fot gl w9 € =
THIFE Sx+9y =7 H TR FQ ¢,
el —500<x <500 3R —500 <y < 500
27

(@ 110

(b) 111

(¢) 112

(d) S # ¥ HE

7w it fF xvz 3-siwt (e i)
& uH wE § | W S S =XvZ +
YZx+zxy ¥ | Foafafes & & 9=
/8 FaT a@d R/ 2
1. S 9@ 3 3R (X+Y+Z) ¥ W9 &
2.5 6 9 ¥ WA B

1.8 WE 37 ¥ WU R

PLKI-T-MTK - A
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44.

45.

= fou T g W wER W EE SR
7 :

(a) Faa 1

(b) e« 2

() 1 3R 2

(d 13 3

fret fafeem g0 & @ =@ & formg,
X &R Y & siaa afat 4:5F s
Fg 1ok T as e F X, v &
e 45 e sifs s &, v Yy &
I TaF T Ugad # e @
I ?

(a) 135 fme

(b) 150 fo=e

(c) 180 foeie

(d) 225 fime

el @ Jmw w1 dvwa S ER

TUERA P ® | T Q1 W@ H e
D T O§ ?

(@)

|Ca 11>

(®)

Nﬂ'\
[\ ]
i,

(c)

J*u |

(d)

—_~
[S°]
tn

~—




40.

41.

42.

43.

Jails from which more than half of the
trained convicts are offered jobs, are

(@) A,
(b) A,
(© A,

B and C
B and D
D and E

(d A, E and F

The number of three digit numbers
(all digits are different) which are
divisible by 7 and also divisible by 7
on reversing the order of the digits, is

(a) Six

(b) Five

(c) Four

(d) Three

How many integral values of x and y

satisfy the equation 5x + 9y = 7, where
—500 <x <500 and 500 <y <500 ?

(a) 110
(b) 111
(c) 112
(d) None of the above

Let XYZ be a 3-digit number. Let
S=XYZ+ YZX+ ZXY. Which of the
following statements is/are correct ?

1. § is always divisible by 3 and
X+Y+2)

2. § is always divisible by 9

3. § is always divisible by 37

15

44.

45.

Select the correct answer using the
code given below :

(@)
(b) 2 only

() 1 and 2

1 only

(d 1 and 3

In covering certain - distance, the
average speeds of X and Y are in the
ratio 4 : 5. If X takes 45 minutes more
than Y to reach the destination, then
what is the time taken by Y to reach
the destination ?
(a) 135 minutes
(b) 150 minutes
(c) 180 minutes

(d) 225 minutes

For two observations, the sum is S and
product is P. What is the harmonic
mean of these two observations ?

(@)

(b)

(c)

(d)
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46.

47.

. 48.

gfe x i arfds s vy & arffs sm
¥ 20% s B, @ Y6 oI@ X A
IA Y p% FAR | p W WF FT & ?
(a) 10
b) 16%
(© 174
(d 20

ot =aw o @ e W g oS
3,4,5 6 3R 7 & AT 27

(a) 1764

(b) 17640

(c) 44100

(d 176400

gt & e TR 9 fre € | 3ft ST

 fymEt @ @ren g ar e @ arEt

49,

B & 20 firme & € | afg Few vew
frere = @rerm S @ &R 30 foee #
aret Bt ® | 3l Faa g e A
@1 ST aY gl o @rel B A e
THG T ?
(@) 30 Pz
(b) 40 fime
(c) 50 firme
(@) 60 T

Ife (x% = 1), ax*+bx3+cx? +dx+e & Th
g §, @ Feafafaa & @ o= @
THEA R ?

(@ atbtc=d+e

(b) atbte=c+d

(c) b+tet+td=a+e

(d a+ct+e=b+d

PLKI-T-MTK - A
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50.

51.

52.

53.

afy [x3+xl—s)=47 ga (f”+%] &1
aE R ?

(a) 36

(b) 27

(c) 18

(d 9

us ufear uw e # 360 SR gHaT ® |
U e # 78 wfear fea aw g
7

(a) 4n
() 67
(S A2x
(d) 1éx

(25 cosec®x + sec’x) & FATH A T
?7?

(a) 40

®) 36

(c) 26

(d) 24

w1 w6 0 < 0< 90° 3Kk

1000 =90° ¥ | afe o =T132, cotnf ¥,
A fffRE i o ad g ?

@ a=1
(b) a=0
() o >1

@ 0<ax<l




46. If the annual income of X is 20%
more than that of Y, then the income
of Y is less than that of X by p%.
What is the value of p?

(a) 10
®) 16%

(¢ 174
(d 20
47. What is the least perfect square which
is divisible by 3, 4, 5, 6 and 7 ?
(a) 1764
(b) 17640
(c) 44100
(d) 176400

48. In a water tank there are two outlets.
It takes 20 minutes to empty the tank
if both the outlets are opened. If the
first outlet is opened, the tank is
emptied in 30 minutes. What is the
time taken to empty the tank by second
outlet ?

(a) 30 minutes
(b) 40 minutes
(¢) 50 minutes
(d) 60 minutes

49. If (x2—1) is a factor of
axt+bx3+ex®+dxte,

then which one of the following is
correct ? ;

(a) a+b+c=d+e
) atb+e=c+d
(c) btct+td=a+e
(d a+tc+te=b+d

50. If (xs +

51.

52,

53.

iﬂ) =47, what is the value of
x

1
6
(#+1),

=

(a) 36

(b 27

(c) 18

@ 9

A wheel makes 360 revolutions in one

minute. What is the number of radians
it turns in one second ?

(a) 4n
(®) 67
(c) 12n
(d) 16z

What is the least value of
(25 cosec?

x + sec?x) ?
(a) 40
() 36
(c) 26
(d) 24

Let 0 <6<90° and 1000 =90°. If
a:ﬂﬁil cotn@, then which one of
the following is correct ?

(@ a=1
® a=0
c) a>1
d 0<ax<l
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54, 9f% tan 60 = cot 20, F&T 0 < 69;:% T,

ql sec 40 = HF FT § ?
() 2
®) 2

2
(©) B
4
(d) 3

55. 15 m 391 UF g9 a1 97 ¥ I UFK
zean @ o5 saam ofid sfr (q=) @
® 3R o % |19 30° T 07 T R |
7 & 9a farg i Ird et @ el &
FHEIR?

(@) 10m
(b) 7m
(c) Sm
(d 3m

56. UF THAA &% H § FEER H9R U
TR A 100 Fie | P w | W
Himr A 9 40 $ie B | 6 B =
(F91) TF @ T AR F a7
Siet ATl @1 W 39 YER @9 &
A HARE F ofid ok @%@ o w
@ R § | A S ek & @ B
T 75 fire ?, @ @ R f S
(mrwr) fepaeit 8 2

(a) 85 e
(b) 110 FE
(c) 125 fie
(d) 140 Hie

PLKI-T-MTK - A

57.

58.

59.

@ owe e fRm @ fagt @
HAR & fif & I HI07 wEA: 27°
IR63°T | AR R I T ¢ 7

(@ pq

®) -vPq

© £
2

P

(=5

sin26° + sin®12° + sin%18° + ... +
sin?84° + sin290°, T A T & ?
(@ 1
() 2
(c) 4

(d 8

cos@ 1
+—— T s £ 2
1+sin@ cotO’ ®

(a) cosec@

(b) secé
(c) secO+ cosect

(d) cosec—cotd




54. If tan 66 = cot 26, where o<69<-’25,

then what is the value of sec46?

(@ 2
(b) 2

2

(c) Vel
4
(d) 3

55. A tree of height 15m is broken by
wind in such a way that its top touches
the ground and makes an angle 30°
with the ground. What is the height
from the ground to the point where tree

is broken ?
(a) 10m

(b) 7m
() S5m

(d 3m
56. On a plane area there are two vertical
towers separated by 100 feet apart. The
shorter tower is 40 feet tall. A pole of
length 6 feet stands on the line joining
the base of two towers so that the tip
of the towers and tip of the pole are
also on the same line. If the distance
of the pole from the shorter tower is
75 feet, then what is the height of the
taller tower (approximately) ?

(a) 85 feet
(b) 110 feet
(c) 125 feet
(d) 140 feet

57. The angles of elevation of the top of
a tower from two points at distances
p and g from the base and on the same
straight line are 27° and 63° respec-
tively. What is the height of the tower ?

(@ pq
®) pa

© &
2

Jrg

@ -5

58. What is the value of

sin26° + sin?12° + sin?18° + .... +
sin?84° + sin?90° ?

(a) 1

(b) 2

(c) 4

@ 8

cosf 1

What is —+
1+sin@ cotf

59.

equal to ?

(a) cosec@

(b) secO

(c) secO+ cosecO
(d) cosecf - cotd

19
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60. sin@—cosf +1 sm6‘+l,ﬁ E
sin@+cosf@—1 cos@

e
(@ 0

(b) 1
(c) 2sinf

(d) 2cosé

61. (tan x + tan y)(1- cot x cot y) +
(cot x + cot y)(1- tan x tan y), foraas
TR § ?

(a) 0
(b) 1
(c) 2
(d 4

secx—tanx
62. .[—————— T =R B ?
secx+tanx

S g
sin x +cosx
1
tanx +cotx
1

secx+tanx
1

cosecx+cotx

()
(b)

(c)
(d

63.3fc 6, wom wgufy # smar R
cot6=% ? (sinf + cos@) = HH
R ?

(@ 1
69

(b) 65
_72
(c) 65

@ 2

PLKI-T-MTK - A

64.

65.

66.

1—2sin? B cos® 8+4 a1 o
sin® @ +cos* 6

R © ?
(@ 0
(b) 1
(c) 2
@ 5

T AT 48 cm @& 3R 14 cm 9T § |
afe faawf, =€t aret s & w1 S 9
ST R, T (secO+cosec) fFESh
ELE I

715
@ 163

(b) 168
(c) 84

(d) 34

94 e &1 gawa w1 € Rredh genat

Z,E_ = _+_%?

) weng 242

LR R A
(Jr+y+zz)2

W e




Sin9—cosﬂ+l_sin9+1 64. What is the value of

Rt sinf+cos@—1 cos@ 1—2sin29c0526+4 equal to?
equal to ? sin® @ +cos* @
(a) 0 @@ 0
(b) 1
1
(¢) 2sin@ ®)
(@ 2cosd (©) 2
d 5
61. What is (tan x + tan y)(1- cot x cot y) +
(cot x + cot y)(1—tan x tan y) equal to ? 65. A rectangle is 48 cm long and 14 cm
(@ 0 wide. If the diagonal makes an angle 0
®) 1 _ with the longer side, then what is
(sec@ + cosecB) equal to ?
(c) 2
&)
(d 4 @ e
— tan
62. What is ik P e equal to ? 725
secx+tanx (b) 168
1
_ 375
@ sin x +cosx (c) 8_4
1
®) tanx +cotx (d) %
() 1
i L
secx +tanx 66. What is the area of the triangle having
1 .
&) ————— ide Mgy LA B E 2y
cosec x +cot x - side length s 'k p oy
63. If 0 lies in the first quadrant and (x+y+2)°
63 : (@ SR T
cot@ = E’ then what is the value of
(sin@ + cos@) ? ®) NXYZ
(a) 1 X+y+z
69
o X oy g
®) &5 (©) ;+;+;
79

i @ Jm
@ 2 xyz
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67.

68.

69.

afe ww P & For 30° WK 45° €
iR T st (wdfs) w6
CE 1) (-\/5+I)cm g @ ﬁ‘gﬂ &l

© %(ﬁﬂ) cm?
@ 2(v3+1) em?

ABCD, S¥icR =¥ & ATHR A T
e ® | W1 EF, @1 DA & 99 § 3K
it 4C 3R BD ¥ Wit fag 0@
T et € | @ afafes, £, DC
RRARIMFABRBEE @
ABCD % @ Prysita fewn DOE e
™R W % W o e H
AR 1 T W F FAFA F AT
R ?

(a)
(b)

©

|l Khlw <3| ool

(@

20 cm 3R 16 cm i Preamsii 9 g1 g9
T GE W Hred € 3R g Sttar At
4T 24 cm ¢ | Afe I9% F & A=
i gt d 8, D Feafafea & & @ @

% Wl ® 7

PLKI—T—MTK -A

70.

aiix

72.

(@) d<26cm
(b) 26cm<d<27cm
(c) 27cm<d<28cm

(d d>28cm

5cm & Bowm 9@ w ogw oA, @
Sard 4B 3R 4C T WeR ¥ &
AB=AC=8cm ¥ | Sfa1 BC #t warg
TR ?

(a) 9cm

(b) 9-2cm

(c) 9-6cm

(d) 9-8cm

T I i &7 ¥ W = € | I
STFA] & ANEA  136mem? § MR
FFEFR AT NG 4em I H
gai fr Breand = € ?

(a) 11 cm, 7 cm

(b) 10 cm, 6 cm

(c) 9 cm, 5 cm

(d 8 cm, 4 cm

afg s g9 3R TF Ff & &wa SR
?, a1 S aRwATat &1 SigaTe @ R ?

@ 24m
®) V7
(c) 1/25

\r
(d) b




67. If the angles of a triangle are 30°
and 45° and the included side is

(xﬁ +1) cm, then what is the area of
the triangle ?

(a) (-\/3 +1) cm?

70.

(b) (wﬁ +3) cm?
(c) %(ﬁ +l) cm?
@ 2(v3+1) em?

68. ABCD is a plate in the shape of a
parallelogram. EF is the line parallel
to DA and passing through the point
of intersection O of the diagonals AC
and BD. Further, E lies on DC and F
lies on AB. The triangular portion DOE
is cut out from the plate ABCD. What
is the ratio of area of remaining portion
of the plate to the whole ?

|

(a)

(®)

|

72.

(c)

Alw

@

0|3

69. Two circles of radii 20 cm and 16 cm
intersect and the length of common
chord is 24 cm. If d is the distance
between their centres, then which one

of the following is correct ?

23

71.

(a) d<26cm

(b) 26 cm<d<27cm

() 27cm<d<28cm

(d d>28cm

In a circle of radius 5cm, 4B and
AC are two chords such that

AB = AC =8 cm. What is the length of
chord BC?

(a) 9cm

(b) 9-2cm

(c) 9:6cm

(d) 9:-8cm

Two circles touch internally. The sum
of their areas is 1367 cm? and distance

between their centres is 4 cm. What are
the radii of the circles ?

(a 11 cm, 7 cm
(b) 10 cm, 6 cm
(¢) 9 cm, 5 cm

(d 8 cm, 4 cm

If area of a circle and a square are
same, then what is the ratio of their
perimeters ? 3
(a) 2vm
®) Vm
3
c —
© 5
r
d kY
@
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73. 8 cm =ATE qTell T 91 6 HhR &1 -7
? f5 9 @ wER Wa Y@ @ e
F=@ ¢ | R o s afts S 39
s = ¥ = R @ T R fF A
AT Y@t 3R gu i el war ® |
Bie 99 F AE & ?

(@) 4(3-+2)cm
(b) 4(3-2+2)cm
(c) 8(3—-+/2) cm
(d) 8(3-242)cm

74. UF Yo N WETE 1 e ®, T o9 6
srafs Brear 3 fie stk 3= 7 die
2 | zad ks wae & T & fag
ot vsr fadw @1 6 s e \wEn i
FEEEFAT Bl € | ™ e Sl |l
TR A SN AT F e R
foraett 5 B A@EEaT € ?

7
(a) Eﬁm

(b) = forex

(c) forex

Wl M|w

10
@ 5 foaex

.TS.Q%aﬁaﬁzqmm%aﬁmm
g ok smma f wh gom B T
FEATHS TG ¥ i I TF o it HaAg
F @ F AR B, A AEd H oI
(qdt) wom it warg Rt

" PLKI-T-MTK — A

76.

(a) & o Fi = M A
(b) =t & syor it Fag F e
(c) TS () wars i

(d) =t Y s Fit e Fir g

TS AEd 6 e AR SSE, 4:3 %6
Fare & § | oY fait & feedl ok =t
T A T A P ¥ g &\,
famoif & fewmt iR B 9o | &
o Brgst & gewe, § s feeaen
22

(a) 3:4

(b) 4:3

‘(c) 16:9

i
g 8 ¥ 20° 1 TE a9 (Preuwe)

@ 1:1

w6 30 fie B 9w

BeTER TS & ST AT § | 39 A 8
& AAGA T E 7

(a) 1507 =t Hie
(b) 5507 t Hie
(c) 650m = =

(d) 8507 =t Hie




73.

74.

75.

A circle of diameter 8 cm is placed in
such a manner that it touches two
perpendicular lines. Then another
smaller circle is placed in the gap such
that it touches the lines and the circle.
What is the diameter of the smaller
circle ?

(@) 4(3-+2)cm
(b) 4(3-2+2)cm

(¢) 8(3-+2)cm
(d) 8(3-2+2)cm

The thickness of a cylinder is 1 foot,
the inner radius of the cylinder is 3 feet
and height is 7 feet. To paint the inner
surface it requires one litre of a
particular colour. How much quantity
of the same colour is required to paint
all the surfaces of the cylinder ?

(a) = litre
(b) < litre
©) = litre

@ 139 litre

A square and a rectangle have equal
areas. If one side of the rectangle is
of length numerically equal to the
square of the length of the side of the
square then the other side of the
rectangle is £

25

76.

s

()

square root of the side of the
square

(b) half the side of the square

(c) of unit length

(d)

double the side of the square

The length and breadth of a rectangle
are in the ratio 4 : 3. Then what is the
ratio of the area of the triangle formed
by the parts of the diagonals with a
long side to the area of the triangle
formed by the parts of diagonals with
a short side ?

(a) 3:4
(b) 4:3
() 16:9

d 1:1

Suppose a region is formed by
removing a sector of 20° from a
circular region of radius 30 feet. What
is the area of this new region ?

(a) 150r square feet
(b) 5507 square feet
(c) 6507 square feet

(d) 8507 square feet
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78.

79,

80.

ABCD T& awik 93w ©, fmd 4C
3 BD foat € | ARk £BAD =600,
ZADB=90° %, a1 BD? f&us ss}
T2

3

(a) EABZ

A
—AB
® 3

1 AB?

€3

(d) %AB2

T AR 9qHA ABCD & i 4 &

it T U @1 DC ¥ PR fiedt #

3R 7% @ 5@ W BCA QR fraeht

g1 3R P, pC = wefamg R, @

frafafea & & a9 /A ==

/87

1. APDAT &%, APCQ & &%
& AR

2. AQAB &1 &9%d, APCOS 8%
ARG IR

% for T Fe W w@w W T IWw

f7g

(a) Fae

(b) Fae 2

(c) 1323wt

(d qFdar 1,982

1-4 m B 31 5 m TexrE = ws g

(F) @ie & forg foram s e fireeh

QigAt g ?

(@) 302 99 #Hiex

(b) 30-4 ¥ HiX

(¢) 30-6 ¥ HIex

(d) 30-8 T R

PLKI-T-MTK - A
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82.

83.

84.

81. af¢ v wa=gs & faeof x ok y &, @

IS AFA FT § ?
@ 3
24
4
(c) xy
@ -5

ww B & et et
3x,4y,53z %, SR 3x<4,[y<53z
? 1 3t P &1 ww w0 900 2, A
fg,y,z%iﬁfﬁ'ﬁ'{?ﬁaimmtw
5
@123
(b) 2,3, 4
© 1, 1,1
d 3,4,5

s P & siftrs & siftrer foras afga
G -

(a) 1

(b) 2

(¢) 3

(d) e

uﬁﬁcmﬁ@T'ﬂﬁ'@ﬁiﬁiﬁaﬁéW
30° &1 FHE AT Faka awdl ®, o
I8 A9 H FATE AT Rt & 2

(a) 314 cm

(b) 215 cm

(c) 2-14 cm

(d 2 em

(b)




78. ABCD is a parallelogram where AC

79,

and BD are the diagonals. If
ZBAD = 60°, ZADB = 90°, then what
is BD? equal to?
3 in2
—AB
@ 3
3

®) 7 AB?

L g2
—AB
© 3

2 o
—AB
@ 3

A line through the vertex 4 of a
parallelogram ABCD meets DC in P
and BC produced in Q. If P is the
mid-point of DC, then which of the
following is/are correct ?

1. Area of APDA is equal to that of
APCQ

2. Area of AQAB is equal to twice
that of APCQ

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

. How many cubic metre of earth is to

be dug out to dig a well of radius 1-4 m
and depth 5m?

(a) 30-2 cubic metre
(b) 30-4 cubic metre
(¢) 30:6 cubic metre
(d) 30-8 cubic metre

Z7

81.

82.

If the diagonals of a thombus are x and
v, then what is its area ?

(a) i

Xy
4

(c) xy
@ x2-)2

The lengths of sides of a triangle are

3x,4 y,SQE, where 3x<4\/;<5-3\/;.
If one of the angles is 90°, then what
are the minimum integral values of
X, y, z respectively ?

@ 1,2 3
(®) 2,3, 4
© 1, 1,1
@ 3,4, 5

(b)

. What is the maximum number of

circum-circles that
have ?

(@ 1
(b) 2
(c) 3
(d) Infinite

a ftriangle can

. If an arc of a circle of radius 6 cm

subtends a central angle measuring
30°, then which one of the following
is an approximate length of the arc ?

(a) 3-14 cm
(b) 2-15 cm
(t) 2-14 cm
(d 2 cm
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85.

86.

87.

5m & UF digl U TR W W UER
W@t 2 § fF 98 UF SR W 48 m A
fag T vt R ok afe 3@ @ & T
1 feam o =@ s I (k)
R &I 3R A e S @ A® 14 m
I fag 7% wgaet ® | R 6 A
fopat @ 2 :

(a) 58 m

(b) 6 m

(¢c) 62 m

(d 75 m

U 3T T f vw gueR i # @
F1él T gl 98 AR fit AER e
T S 4T A ?

(a) 4 = =

(b) 242 T zrd

(¢) = & T=TE

(d) 2 = =

r B awlt 4 wom ot WS F @
3 G W T FHAS R I WER @M 40
® 5 v Wi 7 <1 St vt aweht
? | =t g T AR W W YER @l
o § T 9g g wslht it S o ot
FA T | A A W o gHad o
o, ferartt & 2

(@) 2 %r%‘qﬂé

V34242

‘\/E r Wg

(b)

(c)

(d)

PLKI-T-MTK - A
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88.

89.

TH Wd FAE SO T WAE 6l
-3 7ol w7 & aiag o ® | af
Mo & T &A% p AR S o
THFTLE A% ¢ &, A FAferraa 7 4
S A T el ® 7

(@ p=4q

b)) p=2q

(c) 2p = ¢

(d 2p = 3q

ABCD U& =g¥s ™ var § f&
AD = DC = CA = 20 3o, BC = 12
T HR LABC=90° | =gw
ABCD &1 &5%a orwr foaem & ?
(a) 269 = Tars

(b) 300 = FTE

(c) 325 @ Z&rE

(d) 349 Tt zHrE

90.

WW%9cm%®Tmﬁt{'ﬂi§ﬂ
F ™ PORS & | PO, OR 3R RS
TR €S F T | O F AW da T
g dier T g (Sen 5 oM@ #
feamar wr R) | wifiw & w1 sefE
& | I R ?

(a) 25:121

(b)-5:13

(c) 5:18

(d). 1213




85.

86.

87.

A ladder 5 m long is placed in a room
so as to reach a point 4-8 m high on
a wall and on turning the ladder over
to the opposite side of the wall without
moving the base, it reaches a. point
1-4 m high. What is the breadth of the
room ?

(@) 58 m

(b) 6 m

(c) 62 m

(d 75 m

What is the area of the largest square
plate cut from a circular disk of radius
one unit ?

(a) 4 square units

(b) 242 square units
(c) m square units

(d) 2 square units

Out of 4 identical balls of radius r,
3 balls are placed on a plane such that
each ball touches. the other two balls.
The 4t ball is placed on them such that
this ball touches all the three balls.
What is the distance of centre of 4%
ball from the plane ?

(a) 2\/% 7 unit

—ﬁ+2ﬁ r unit
N2

r

3-2.2

@) ﬁt_\gﬁrunit

(b)

unit

()

29

88.

89.

90.

A right circular cylinder just encloses
a sphere. If p is the surface area of the
sphere and ¢ is the curved surface area
of the cylinder, then which one of the
following is correct ?

@ p=g

(b) p=2q
() 2p=g¢q
(d) 2p = 3¢q

ABCD is a quadrilateral such that
AD = DC = CA = 20 units, BC = 12
units and ZABC=90°. What is the
approximate area of the quadrilateral
ABCD?

(@) 269 sq units
(b) 300 sq units
(c) 325 sq units
(d) 349 sq units

Let PORS be the diameter of a circle
of radius 9 cm. The length PO, OR and
RS are equal. Semi-circle is drawn with
OS as diameter (as shown in the given
figure). What is the ratio of the shaded
region to that of the unshaded region ?
@) 25121

(b) 5:13

(€) 5318

@ 1:2
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923.

x -4

< .
i -

Ry sk #, 7R L6 MI=st,

AxFAAFTE ?

o M 3@ # wfE &= @ e

feramm €, afe v 3w it B 2cm (a) 45°
27
(a) 443 -2z cm’ (8)30
() V3-7mcm? © 15°
(c) \E—gcm"
(d 10°
(d 27-243cm’
92. _ 94. ABCD U& THifmw (wwew) §, el

AB, DC % @R © | af¢ AB=4cm,
BC=3cm, CD=7cm 3R DA=2cm

6/3 units | 2, o difrm w1 Seee T R 7
6 units 6 units
7
it (a) 22\{;cm
ANt CUP et ®) zzgcmz

fra ® 2

(@) 9(m-+3) = wré
(b) 3(4r-3+3) = T=E
(¢) 3(3m—4+3) ot zrd

(€) 223 cm?

B3
—— O

@ 9(3-m) T T 3
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91.

92.

\/

What is the area of the shaded region
in the given figure, if the radius of each
of the circles is 2 cm ?

(a) 4/3-27cm?
() 3-mem?

(©) w/g—% em’

(d 27— 2«5 cm?

6v3 units

6 units 6 units

6y3 units

In the given figure, what is the area
of the shaded region ?

(@) 9(m—/3) sq units
(b) 3(4m-3+3) sq units
(c) 3(3::—445) sq units
(d) 9(\/3_, —7) sq units

93.

x ¥4

< L
< >

In the given figure, if%= 6 and §=5,

then what is the value of x?
(a) 45°
(b) 30°
(c) 15°

(d) 10°

94. ABCD is a trapezium, where AB is

parallel to DC. If AB=4 cm, BC=3 cm,
CD=7cm and DA =2 cm, then what
is the area of the trapezium ?

(a) 22\E cm’
(b 22\[% cm’

(c) 22~/3 em?®

222

3

cm?

@
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o it W sm@ F PO, RS F WK
R, ZAEF=95°, /BHS=110° 3K

2 ZABC=x°"R, A x W AATT© ?
4
(a) 15
1
(b) 25
8 (c) 30
-]
- e @ 35
fiu ™ smm # Fwr Ram ™ ¥
LIHL2+ L3+ LA+ L5+ L6+ L7+ £8 97. H
HTHE ¥ 8 ? '\A \
(@) 240° =
(b) 360° 4 D
' 3 /E c\ \issu N
(c) 540°
G
(d 720°

fou v sm@ #, 4B, CDF IR ® 3R
AC, BD® GHiR © | AR LEAC = 40°,

96. % 5 ZFDG = 55°, ZHAB = x° &, & x &1
HH W8 ?
4 E G (a) 85
95°
B
(b) 80
HF 110°
c F
(c) 75
Q s (d) 65
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9s, In the given figure PQ is parallel to

3 RS, ZAEF=95°, /BHS=110°, and
ZABC =x°. Then what is the value of
x?

() 15

() 25

5 (©) 30

7 6 d 35

Angles are shown in the given figure.
What is value of Z1+22+/43+/Z4+

L5+ 26+ LT+ 287 97. v
(@) 240° p M \B >

(b) 360° .

(c) 540° ; /s c\ \%ﬁo %A
@ 720° 5

In the given figure 4B is parallel to
CD and AC is parallel to BD. If

%. ZEAC=40°, /FDG=55°, /ZHAB=x°,
P R then what is the value of x ?
A (a) 85
* G
95°
. (b) 80
H 110°

C F
©) 75
Q s (d) 65
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98. (a) 15-3 cm?

(b) 25-5 cm?
(c) 284 cm?
£ D 100. 5
few u ariva #, & ad 39 ABC, AEF
Wk CDF &1 43R C & &= ® gl 5
28 T €, 3R F, AC & weafeg € |
qHT St 1 FA gwe fohaem ® 2
o
(a) 924 = T&rE
(b) 824 = TS 2 g%
fiu M sm@ & wed #, frafafea
(c) 624 = TrE FAt ) foer Hifsg .
1. AAOD 3 ABOC & &A%l o
(d) 462 7 T 4NTES AAOB 3R ADOC
| AT & ANTHA & JTaC © |
99, 2. ZAOD = /BOC
_Azé%ggzzéz 3. AB+BC+ CD+ DA>AC+ BD
8 cm
I H Y SN Y I A § ?
6 cm 6cm E
KA (a) *aer 1 3R 2

W/’ (b) Fae 233

: (c) %A 133
feu 7o sm@ #, wifya &= & aAwd
oA fha € 7 (d 1,23R3
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98, (a) 153 cm?

B
(b) 255 cm?
(c) 284 cm?
: W : o .
£ D 100. 3

In the given figure, there are three semi
circles ABC, AEF and CDF. The dis-
tance between 4 and C is 28 units and 4
Fis the mid-point of AC. What is the
total area of the three semi circles ?

(a) 924 square units

(b) 824 square units B ¢

Consider the following statements with

(c) 624 square ﬁnits reference to the given figure :

1. The sum of the areas of AAOD
(d) 462 square units and ABOC is equal to the sum of
the areas of AAOB and ADOC.
99, 2. LZAOD = ZBOC

3. AB+BC+CD+DA>AC+BD

Which of the above statements are
correct ?

(a) 1 and 2 only

(c) 1 and 3 only

What is the approximate area of the
shaded region in the figure given ? (d) 1, 2 and 3
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SPACE FOR ROUGH WORK
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